شباب هذي حل اسئله اليورن مو اكيد تاكدو وردو (اتمني الكل يحاول )
1-c
2-a
3-c
4-d
5-b 
*  اخر السؤال ناقصه كلمة ما عدا حطوه السؤال الخامس.
6-a
7-d
8-b
9-a
10-c       شبااااااب هذي الاجوبه تاكدو يرحم والديكم وردو علينا                      
11-b
12-b
13-a
14-c
15-d
16-d
17-d
18-a
19-a
20-b

 Urine analysis quiz 6 

1- Urinary leukocyte contains. 

a- Granular cytoplasm 

b- Lobed nucleus 

c- Both a&b 

d- None of the above 

2 - Unconjugated bilirubin is the break down product of : 

a- Hemoglobin metabolism 

b- Lipid metabolism 

c- Both a & b 

d- Non of the above 

3- Erythrocytes entering the urine below the kidney ( because of stone, tumer , trauma infection) are : 

a- Round 

b- Eumorphic 

c- Both a & b 

d- Non of the above 

4-Major central nervous system disease and disorders of CSF analysis : 

a- Meningitis 

b- Neurosyphilis 

c- Malignancy 

d- All of the above. 

. 

5- Macroscopic examination involves one of these following exept:
a- cast 

b- volume 

c- cells 

d- crystal 

6- Tubular epithelial cells have a single nucleus and appear similar to: 

a-Lymphocyte 

b-Erythrocyte 

c-Platelts 

d-All of the above 

7- When urine excessive hyaline cast that due to 

a- dehydration 

b- Physical exertion 

c- Fever 

d- all of the above 

8- The structural and functional unit of kidney 

a- Glomerulus 

b- Nephron 

c- Both a & b 

d- Non of the above 

9- Urinary leukocytes are typically about ……….. the diameter of RBCs 

a- One and have times 

b- Tow times 

c- Tow and half times 

d- None of the above 

10- In liver injuries increases of serum direct bilirubin can cause : 

a- Decreased urinary bilirubin and urobilinogen 

b- Decreased urinary bilirubin and increased in urinary urobilinogen 

c- Increased urinary bilirubin and urinary urobilinogen 

d- None of the above 

11- The normal 24 hour urine volume of an adult is between 

a- 100 ml – 500 ml 

b- 750 ml – 2000 ml 

c- 200 ml – 300 ml 

d- Non of the above. 

12- Large number of pigment granular occur in : 

a- Diabetes 

b- Acute tubular necrosis 

c- Lymphoma 

d- None of the above 

13- Disorder associated with oliguria lead to urine with 

a- high SG 

b- Low SG 

c- Normal SG 

d- none of the above 

14- Red cell casts signify glomerular disease thy occur in : 

a- Proliferatve glomerulonephritis 

b- Basement membrane nephropathies 

c- Both a & b 

d- Non of the above 

15- Serous fluids are those that accumulate in the : 

a- Pleural cavity 

b- Peritonal cavity 

c- Pericardial cavity 

d- All of the above 

16-No threshold substance which are not reabsorbed at all are: 

a-Creatinin 

b-Water 

c-Sulphate 

d-A&c 

17-The nephron is consist of: 

a. Glomerulus 

b. Proximal and distal convoluted tubules 

c. Loop of Henle 

d. All of above 

18- Semen is ….fluid ejucated during male sexual activity . 

a-milky 

b-clear 

c-turbid 

d-yellow 

19-………… epithelial cells are shed in most renal parenchymal disease 
a- renal tubular 

b-squamous 

c-a &b 

d-non of above 

20- On normal mixed diet the urine is usually 

a-alkaline 

b-acid 

c-neutral 

d-non of above
